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USPS/UPS-T1-47. Please refer to your response to USPS/UPS-T1-43 in which you
state that “Random factors not explicitly accounted for by the model could cause
workhours at facility X to be higher or lower than those at facility Y.”
(a) Please confirm that the first two words of your answer are “not confirmed.”
(b) Please confirm that USPS/UPS-T1-43 asks “If you do not confirm, please
explain the increase in hours predicted by your Table 1 results.” (Emphasis added).
(c) Please provide the increase in hours predicted by your Table 1 results and
explain that prediction.
(d) Please confirm that the question asked if “workhours in the manual labor

sorting operations in facility X would be expected to exceed those initially seen in

facility Y.” (Emphasis added).

(e) Please confirm that when using an econometric equation to make
predictions, the expected values of “random factors not explicitly accounted for by the
model” are typically set to zero. If you do not confirm, please explain how those
expected values could be calculated in this case.

(f) Using the standard econometric assumption that the expected values of the
“random factors not explicitly accounted for by the model” are zero when using an

econometric equation, please answer the question.

USPS/UPS-T1-48. Please refer to USPS/UPS-T1-44. It appears that you did not

provide an answer to part b of the question. Please provide that answer.
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USPS/UPS-T1-46. Please refer to your response to USPS/UPS-T1-40 in which you

state that the question “cannot be answered.” Your answer states:

The question assumes a cross-sectional dataset.
Therefore, the question assumes T=1. As a result, this
model cannot be estimated as specified because the
number of parameters exceeds the sample size.

(a) Please confirm that you estimated a cross-sectional version of witness
Bradley's model in which T=1. If you do not confirm, please provide the value for T
in your cross-sectional version of witness Bradley's model.

(b) Please confirm that you estimated a cross-sectional version of witness
Bradley’'s model by dropping the site specific effects and then estimating the model
with one observation for each site. If you do not confirm, please provide the
estimated values for the site-specific effects from your cross-sectional model.

(c) Please confirm that it is possible to estimate the model (and in particular
the 8 coefficients) presented in USPS/UPS-T1-40 by dropping the facility-specific
variables and estimating the model by Ordinary Least Squares with one observation
for each site. If you do not confirm, please demonstrate mathematically why this
estimation procedure cannot be performed.

(d) Please answer USPS/UPS-T-1-40 assuming the usual procedure of

dropping the facility specific effects in estimating the cross-sectional version of the

model presented therein.
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